X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 NS: #2818 =& GHO) -20 1 6 NS: REIE €5 E(BAC) -11 VP:| 749 : 12.51| Total VP: 80.29 Rank:
EW: #r&il EFIBEAC) 11 EW: BRE0H B3 (BIO) 20 IMP:| 21 28 16
o I o
#1 » KT 4HS-1 -50 Mean: 2HS4 170 50 1 #2 » K872 2SE-1 50 Mean: 3HS3 140 50 1
v T8 4HS-2-100 -20  3CN3 110 40 1 v T43 3NE-150 -50  3NE-2 100 40 2
* KT5 Dif: 50 NS:-1 2HS3 140 40 2 + KJ976 Dif: 0 NS:3 2SE-2 100 40 1
& AJT976 IMP: 2 EW:2 2HS2 110 40 1 & 2 IMP: 0 EW:-3 2HS2 110 40 1
» QJ83 » A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
* J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 4NS-2 -100 Mean: 3DN3 110 40 1 ||#4 s K 4SW4 -620 Mean: 4SW-3 300 7.0 9
v J95 3NN-1-50 -40  2DN3 110 40 1 v JT642 4SW-3300 -10  4SE-3 300 70 1
+ Q976 Dif: -50 NS:-2 1NS1 90 40 1 ¢ AJ97 Dif: -920 NS:-12 4SW-2 200 50 1
& AJ93 IMP: -2 EW:0 3NS-1 50 0.0 1 & K92 IMP: -14 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1 ||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ 7
S 12~~1 ¢AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 2SW3 -140 Mean: 4SW-2 100 40 3 ||#6 4 JT86 1HE1 -80 Mean: 3HE-3 300 70 1
v T8653 2SW2 -110 40  3SW-1 50 30 5 v J74 2DW2-90 o0 3NW-2 200 50 1
¢ J8 Dif: -30 NS:-3 2sw2 110 -20 3 ¢ AJ3 Dif: 10 NS:-2 3SE-1 100 30 1
& AJ53 IMP: -1 EW:2 3SW3 140 30 1 » 754 IMP: 0 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 2SE3 -140 Mean: 4SE-3 300 110 1 ||#38 s A5 5DS7 440 Mean: 7NN7 1520 110 2
v JT9754 4SE5 -650 -260  2HW-2 200 100 1 v AQT52 6DS7 940 1010 7DS7 1440 100 3
. Dif: 510 NS:3  3NW-1 100 80 2 ¢ 52 Dif: -500 NS:-11 6NS7 1020 00 1
& QJT4 IMP: 11 EW:9 2SW-1 100 8.0 1 & AK76 IMP: -11 EW:2 6NN7 1020 00 2
s Q94 a KJ52 2SE2 110 40 1 ||as T42 ~ J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NN3 600 Mean: 4HXE-4 1100 11.0 1
v A543 2DS7 190 440  3NS7 520 20 3 v QJ4 3NN3 600 510  4HXE-3 800 7.0 1
.87 Dif: 330 NS:2 3NN7 520 20 7 * AT Dif: 0 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 8 EW:6 5DS7 440 00 1 » KQ7 IMP: 0 EW:-3 3NS3 600 3.0 3
& KT8743 » AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 v AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AY 3z >\ 4 —_
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
2 NS: B&SF STHINGEO) 3 1 O NS: 3%k Z/EIB(BAC) 28| VP:| 425 : 15.75| Total VP: 91.32 Rank:
EW: BE#ES BEESFEAC) -28 EW: #B{E32 ZBE55(BAO) -3| IMP:| 15 34 13
o I
#1 s KT 4HS-1-50 Mean: 2HS4 170 50 1 [[#2 » K872 2SE4 -170 Mean: 3HS3 140 50 1
v T8 2HS3140 -20  3CN3 110 40 1 v T43 3NE3 -400 -50  3NE-2 100 40 2
* KT5 Dif: -190 NS:-1 2HS3 140 40 2 + KJ976 Dif: 230 NS:-3 2SE-2 100 40 1
& AJT976 IMP: -5 EW:-4 2HS2 110 40 1 & 2 IMP: 6 EW:8 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3NN-3 -150 Mean: 3DN3 110 40 1 ||#4 s K 5CXS-3 -800 Mean: 4SW-3 300 7.0 9
v J95 3NN-2-100 -40  2DN3 110 40 1 v JT642 4SE-3300 -10  4SE-3 300 70 1
+ Q976 Dif: -50 NS:-3 1NS1 90 40 1 ¢ AJ97 Dif: -1100 NS:-13 4SW-2 200 50 1
& AJ93 IMP: -2 EW:2 3NS-1 50 0.0 1 & K92 IMP: -15 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 3SW-150 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2NW2 -120 Mean: 3HE-3 300 70 1
v T8653 3SW-150 -40  3SW-1 50 30 5 v J74 3NW-2200 0 3NW-2 200 50 1
¢ J8 Dif: 0 NS:3 2Sw2 110 -20 3 ¢ AJ3 Dif: -320 NS:-3 3SE-1 100 30 1
& AJ53 IMP: 0 EW:-3 3SW3 140 30 1 » 754 IMP: -8 EW:-5 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 4SE-3 300 Mean: 4SE-3 300 110 1 ||#38 s A5 7DS7 1440 Mean: 7NN7 1520 110 2
v JT9754 2SE2 -110 -260 2HW-2 200 100 1 v AQT52 7DS7 1440 1010 7DS7 1440 100 3
. Dif: 410 NS:11  3NW-1 100 80 2 ¢ 52 Dif: 0 NS:10 6NS7 1020 00 1
& QJT4 IMP: 9 EW:-4 2SW-1 100 8.0 1 & AK76 IMP: 0 EW:-10 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXE-2 500 Mean: 4HXE-4 1100 11.0 1
v A543 3NS7 520 440  3NS7 520 20 3 v QJ4 4NN4 630 510  4HXE-3 800 7.0 1
.87 Dif: 0 NS:2 3NN7 520 20 7 * AT Dif: 130 NS:0 4NN4 630 3.0 1
& AKJT7 IMP: 0 EW:-2 5DS7 440 00 1 » KQ7 IMP: -4 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 v AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
3 NS: B BEHREE(BHO) -9 1 3 NS: HB{g #3CE(BAC) -1 VP:| 6.00 : 14.00| Total VP: 56.21 Rank:
EW: BXE FA3XEEC) 1 EW: £ TE(B0) 9 IMP:| 28 : 40 18
o I
#1 s KT 4HS-2 -100 Mean: 2HS4 170 50 1 [[#2 » K872 3NE3 -400 Mean: 3HS3 140 50 1
v T8 4HS-1-50 -20  3CN3 110 40 1 v T43 2SE3 -140 -50  3NE-2 100 40 2
* KT5 Dif: -50 NS:-2 2HS3 140 40 2 + KJ976 Dif: -260 NS:-8 2SE-2 100 40 1
& AJT976 IMP: -2 EW:1 2HS2 110 40 1 & 2 IMP: -6 EW:3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3NN-2 -100 Mean: 3DN3 110 40 1 ||#4 s K 4SW4 -620 Mean: 4SW-3 300 7.0 9
v J95 3NN-3 -150 -40  2DN3 110 40 1 v JT642 4SW-3300 -10  4SE-3 300 70 1
+ Q976 Dif: 50 NS:-2 1NS1 90 40 1 ¢ AJ97 Dif: -920 NS:-12 4SW-2 200 50 1
& AJ93 IMP: 2 EW:3 3NS-1 50 0.0 1 & K92 IMP: -14 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 3SW3 -140 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2NS-2 -100 Mean: 3HE-3 300 70 1
v T8653 2SW2 -110 40  3SW-1 50 30 5 v J74 1HE2-110 o0 3NW-2 200 50 1
¢ J8 Dif: -30 NS:-3 2sw2 110 -20 3 ¢ AJ3 Dif: 10 NS:-3 3SE-1 100 30 1
& AJ53 IMP: -1 EW:2 3SW3 140 30 1 » 754 IMP: 0 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 1NW3 -150 Mean: 4SE-3 300 110 1 ||#38 s A5 7NN7 1520 Mean: 7NN7 1520 110 2
v JT9754 2SW-1100 -260 2HW-2 200 100 1 v AQT52 6DS7 940 1010 7DS7 1440 100 3
. Dif: -250 NS:3  3NW-1 100 80 2 ¢ 52 Dif: 580 NS:11 6NS7 1020 00 1
& QJT4 IMP: -6 EW:-8 2SW-1 100 8.0 1 & AK76 IMP: 11 EW:2 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 5DS7 440 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXE-3 800 Mean: 4HXE-4 1100 11.0 1
v A543 6NN7 1020 440  3NS7 520 20 3 v QJ4 6CS-3-300 510  4HXE-3 800 7.0 1
.87 Dif: -580 NS:0 3NN7 520 20 7 * AT Dif: 1100 NS:7 4NN4 630 3.0 1
& AKJT7 IMP: -11 EW:-11 5DS7 440 00 1 » KQ7 IMP: 15 EW:13 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
4 NS: =S8 Z=H(GH0) 38 14 NS: Z=Hi# BREL(FAC) -11 VP:[ 19.76 : 0.24 | Total VP: 142.01 Rank:
EW: E&HH 2k J51EEHC) 12 EW: RZ % PR (BAO) -3| IMP:| 51 6 1
o I o
#1 s KT 4SN-3 -150 Mean: 2HS4 170 50 1 [[#2 » K872 2SE-150 Mean: 3HS3 140 50 1
v T8 4HS-1-50 -20  3CN3 110 40 1 v T43 3HS3140 -50  3NE-2 100 40 2
* KT5 Dif: -100 NS:-4 2HS3 140 40 2 + KJ976 Dif: -90 NS:3 2SE-2 100 40 1
& AJT976 IMP: -3 EW:1 2HS2 110 40 1 & 2 IMP: -3 EW:-5 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3DN-1-50 Mean: 3DN3 110 40 1 ||#4 s K 4SW-3 300 Mean: 4SW-3 300 7.0 9
v J95 2NS-1-50 -40  2DN3 110 40 1 v JT642 2SW5-200 -10  4SE-3 300 70 1
+ Q976 Dif: 0 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: 500 NS:7 4SW-2 200 50 1
& AJ93 IMP: 0 EW:0 3NS-1 50 0.0 1 & K92 IMP: 11 EW:5 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 4SW-2 100 Mean: 4SW-2 100 40 3 ||#6 4 JT86 3HE-3 300 Mean: 3HE-3 300 70 1
v T8653 2SW3 -140 -40  3SW-1 50 30 5 v J74 1NE2-120 © 3NW-2 200 50 1
¢ J8 Dif: 240 NS:4 2swW2 110 -20 3 ¢ AJ3 Dif: 420 NS:7 3SE-1 100 30 1
& AJ53 IMP: 6 EW:3 3SW3 140 30 1 » 754 IMP: 9 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW-1 100 Mean: 4SE-3 300 110 1 ||#38 s A5 6NS7 1020 Mean: 7NN7 1520 110 2
v JT9754 4SE4 -620 -260 2HW-2 200 100 1 v AQT52 6DS7 940 1010 7DS7 1440 100 3
. Dif: 720 NS:8 3NW-1 100 80 2 ¢ 52 Dif: 80 NS:0 6NS7 1020 00 1
& QJT4 IMP: 12 EW:8 2SW-1 100 8.0 1 & AK76 IMP: 2 EW:2 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NS7 520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXE-4 1100 Mean: 4HXE-4 1100 11.0 1
v A543 3NN7 520 440  3NS7 520 20 3 v QJ4 3NS3 600 510  4HXE-3 800 7.0 1
.87 Dif: 0 NS:2 3NN7 520 20 7 * AT Dif: 500 NS:11 4NN4 630 3.0 1
& AKJT7 IMP: 0 EW:-2 5DS7 440 00 1 » KQ7 IMP: 11 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
5 NS: FiHRkE ¥ SOEGHO) -2 1 5 NS: HEH BRIIEF(BAC) 2 VP:| 8.86 : 11.14| Total VP: 115.91 Rank:
EW: BEEISZ SRBEREAC) -2 EW: 28X BER(BO) 2 IMP:| 20 : 23 5
o I
#1 s KT 3CN3 110 Mean: 2HS4 170 50 1 [[#2 » K872 3NE-2 100 Mean: 3HS3 140 50 1
v T8 4SN-3 -150 -20  3CN3 110 40 1 v T43 3NE-150 -50  3NE-2 100 40 2
* KT5 Dif: 260 NS:4 2HS3 140 40 2 + KJ976 Dif: 50 NS:4 2SE-2 100 40 1
& AJT976 IMP: 6 EW:4 2HS2 110 40 1 & 2 IMP: 2 EW:-3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3DN-1-50 Mean: 3DN3 110 40 1 ||#4 s K 4SW-1 100 Mean: 4SW-3 300 7.0 9
v J95 2NN-1-50 -40  2DN3 110 40 1 v JT642 4SW-3300 -10  4SE-3 300 70 1
+ Q976 Dif: 0 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: -200 NS:3 4SW-2 200 50 1
& AJ93 IMP: 0 EW:0 3NS-1 50 0.0 1 & K92 IMP: -5 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 2SW2 -110 Mean: 4SW-2 100 40 3 ||#6 4 JT86 3CS-2-100 Mean: 3HE-3 300 70 1
v T8653 2SE3 -140 -40  3SW-1 50 30 5 v J74 1HE2-110 o0 3NW-2 200 50 1
¢ J8 Dif: 30 NsS:-2 2sw2 110 -20 3 ¢ AJ3 Dif: 10 NS:-3 3SE-1 100 30 1
& AJ53 IMP: 1 EW:3 3SW3 140 30 1 » 754 IMP: 0 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW3 -600 Mean: 4SE-3 300 110 1 ||#38 s A5 7DS7 1440 Mean: 7NN7 1520 110 2
v JT9754 2HN-3 -300 -260 2HW-2 200 100 1 v AQT52 6DS7 940 1010 7DS7 1440 100 3
. Dif: -300 NS:-8 3NW-1 100 80 2 ¢ 52 Dif: 500 NS:10 6NS7 1020 00 1
& QJT4 IMP: -7 EW:1  2SW-1 100 8.0 1 & AK76 IMP: 11 EW:2 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 6DS-1-50 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 A Mean: 4HXE-4 1100 11.0 1
v A543 3NN7 520 440  3NS7 520 20 3 v QJ4 3NN3 600 510  4HXE-3 800 7.0 1
.87 Dif: -570 NS:-10 3NN7 520 20 7 * AT Dif: 0 NS:0 4NN4 630 3.0 1
& AKJT7 IMP: -11 EW:-2 5DS7 440 00 1 » KQ7 IMP: 0 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
6 NS: 21 FEEREI0) 21 8 NS: KB LLRZ(BAC) -6 VP:| 16.97 : 3.03 | Total VP: 104.46 Rank:
EW: S2:7A HEEEAC) 6 EW: M E#E 5RiIEE(BIO) -2 IMP:| 27 2 7
o I
#1 s KT 2HS4 170 Mean: 2HS4 170 50 1 [[#2 » K872 3NE-2 100 Mean: 3HS3 140 50 1
v T8 4HS-3-150 -20  3CN3 110 40 1 v T43 3NE3 -400 -50  3NE-2 100 40 2
* KT5 Dif: 320 NS:5 2HS3 140 40 2 + KJ976 Dif: 500 NS:4 2SE-2 100 40 1
& AJT976 IMP: 8 EW:4 2HS2 110 40 1 & 2 IMP: 11 EW:8 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 1NS190 Mean: 3DN3 110 40 1 ||#4 s K 4SW-3 300 Mean: 4SW-3 300 7.0 9
v J95 2DN3 110 -40  2DN3 110 40 1 v JT642 4SW-3300 -10  4SE-3 300 70 1
+ Q976 Dif: -20 NS:4 1NS1 90 40 1 ¢ AJ97 Dif: 0 NS:7 4SW-2 200 50 1
& AJ93 IMP: -1 EW:-4 3NS-1 50 0.0 1 & K92 IMP: 0 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 4SW-2 100 Mean: 4SW-2 100 40 3 ||#6 4 JT86 3SE-1 100 Mean: 3HE-3 300 70 1
v T8653 3SW-150 -40  3SW-1 50 30 5 v J74 1HE-1100 © 3NW-2 200 50 1
¢ J8 Dif: 50 NS:4 2sw2 110 -20 3 ¢ AJ3 Dif: 0 NS:3 3SE-1 100 30 1
& AJ53 IMP: 2 EW:-3 3SW3 140 30 1 » 754 IMP: 0 EW:-3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NE4 -630 Mean: 4SE-3 300 110 1 ||#38 s A5 6DS7 940 Mean: 7NN7 1520 110 2
v JT9754 3NW3 -600 -260 2HW-2 200 100 1 v AQT52 6DS7 940 1010 7DS7 1440 100 3
. Dif: -30 NS:-9 3NW-1 100 80 2 ¢ 52 Dif: 0 NS:-2 6NS7 1020 00 1
& QJT4 IMP: -1 EW:8 2SW-1 100 8.0 1 & AK76 IMP: 0 EW:2 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NS3 600 Mean: 4HXE-4 1100 11.0 1
v A543 5DS5400 440  3NS7 520 20 3 v QJ4 4HXE-2 500 510  4HXE-3 800 7.0 1
.87 Dif: 120 NS:2 3NN7 520 20 7 * AT Dif: 100 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 3 EW:1 5DS7 440 00 1 » KQ7 IMP: 3 EW:0 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
7 NS: H{&{& EEGGE0) 3 9 NS: R<FR $B8R/(BAC) 2 | VP:| 850 : 11.50| Total VP: 121.53 Rank:
EW: MR £5975R(BAC) -2 EW: &iil55 BRiEFR(BAO) -3| IMP:| 13 17 4
o I
#1 s KT 4HS-1 -50 Mean: 2HS4 170 50 1 [[#2 » K872 2SE4 -170 Mean: 3HS3 140 50 1
v T8 3NN-1-50 -20 3CN3 110 40 1 v T43 2SE3 -140 -50  3NE-2 100 40 2
* KT5 Dif: 0 NS:-1 2HS3 140 40 2 + KJ976 Dif: -30 NS:-3 2SE-2 100 40 1
& AJT976 IMP: 0 EW:1 2HS2 110 40 1 & 2 IMP: -1 EW:3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 2NN-1 -50 Mean: 3DN3 110 40 1 ||#4 s K 4SW-2 200 Mean: 4SW-3 300 7.0 9
v J95 3DN3 110 -40  2DN3 110 40 1 v JT642 4SW5 -650 -10  4SE-3 300 70 1
+ Q976 Dif: -160 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: 850 NS:5 4SW-2 200 50 1
& AJ93 IMP: -4 EW:-4 3NS-1 50 0.0 1 & K92 IMP: 13 EW:12 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 3SW-150 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2HE2 -110 Mean: 3HE-3 300 70 1
v T8653 3SW-150 -40  3SW-1 50 30 5 v J74 1HE1-80 0 3NW-2 200 50 1
¢ J8 Dif: 0 NS:3 2Sw2 110 -20 3 ¢ AJ3 Dif: -30 NS:-3 3SE-1 100 30 1
& AJ53 IMP: 0 EW:-3 3SW3 140 30 1 » 754 IMP: -1 EW:2 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3DS-3 -300 Mean: 4SE-3 300 110 1 ||#38 s A5 6DS7 940 Mean: 7NN7 1520 110 2
v JT9754 3NW-1100 -260 2HW-2 200 100 1 v AQT52 6NN7 1020 1010 7DS7 1440 100 3
. Dif: -400 NS:-1  3NW-1 100 80 2 ¢ 52 Dif: -80 NS:-2 6NS7 1020 00 1
& QJT4 IMP: -9 EW:-8 2SW-1 100 8.0 1 & AK76 IMP: -2 EW:0 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NS7 520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NS3 600 Mean: 4HXE-4 1100 11.0 1
v A543 3NN7 520 440  3NS7 520 20 3 v QJ4 3NN3 600 510  4HXE-3 800 7.0 1
.87 Dif: 0 NS:2 3NN7 520 20 7 * AT Dif: 0 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 0 EW:-2 5DS7 440 00 1 » KQ7 IMP: 0 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
U +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
8 NS: PRZIR 48F=ZEC) -6 6 NS: 21212 27 (H0) 21 VP:| 3.03 16.97 | Total VP: 97.35 Rank:
EW: HRELE FRMEE(BHO) 21 EW: SRR MEE(BAC) 6 IMP:| 2 27 9
o I
#1 s KT 2HS4 170 Mean: 2HS4 170 50 1 [[#2 » K872 3NE-2 -100 Mean: 3HS3 140 50 1
v T8 4HS-3150 -20  3CN3 110 40 1 v T43 3NE3 400 -50  3NE-2 100 40 2
* KT5 Dif: -320 NS:-4 2HS3 140 40 2 + KJ976 Dif: -500 NS:-8 2SE-2 100 40 1
& AJT976 IMP: -8 EW:-5 2HS2 110 40 1 & 2 IMP: -11 EW:-4 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 1NS1-90 Mean: 3DN3 110 40 1 ||#4 s K 4SW-3 -300 Mean: 4SW-3 300 7.0 9
v J95 2DN3 -110 -40  2DN3 110 40 1 v JT642 4SW-3-300 -10  4SE-3 300 70 1
+ Q976 Dif: 20 NS:4 1NS1 90 40 1 ¢ AJ97 Dif: 0 NS:7 4SW-2 200 50 1
& AJ93 IMP: 1 EW:-4 3NS-1 50 0.0 1 & K92 IMP: 0 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4SW4 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 4SW-2 -100 Mean: 4SW-2 100 40 3 ||#6 4 JT86 3SE-1-100 Mean: 3HE-3 300 70 1
v T8653 3SW-1-50 -40  3SW-1 50 30 5 v J74 1HE-1-100 © 3NW-2 200 50 1
¢ J8 Dif: -50 NS:3 2sw2 110 -20 3 ¢ AJ3 Dif: 0 NS:3 3SE-1 100 30 1
& AJ53 IMP: -2 EW:-4 3SW3 140 30 1 » 754 IMP: 0 EW:-3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
*eVAN ,QJ3 FOVAN 4,54 3Cs-2 4100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NE4 630 Mean: 4SE-3 300 110 1 ||#38 s A5 6DS7 -940 Mean: 7NN7 1520 110 2
v JT9754 3NW3 600 -260 2HW-2 200 100 1 v AQT52 6DS7 -940 1010 7DS7 1440 100 3
. Dif: 30 NS:-8 3NW-1 100 80 2 ¢ 52 Dif: 0 NS:-2 6NS7 1020 00 1
& QJT4 IMP:1 EW:9 2SW-1 100 8.0 1 & AK76 IMP: 0 EW:2 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 -520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NS3 -600 Mean: 4HXE-4 1100 11.0 1
v A543 5DS5-400 440  3NS7 520 2.0 3 v QJ4 4HXE-2 -500 510  4HXE-3 800 7.0 1
.87 Dif: -120 NS:-1  3NN7 520 20 7 * AT Dif: 100 NS:0 4NN4 630 3.0 1
& AKJT7 IMP: -3 EW:-2 5DS7 440 00 1 » KQ7 IMP: -3 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 v AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
9 NS: BE5F R B EREIC) 2 7 NS: E2{& #54(FR0) 3 VP:| 11.50 : 8.50 | Total VP: 99.97 Rank:
EW: 81505 BEEEIO) -3 EW: BRMSE £HEX(BAC) -2 IMP:| 17 13 8
o I o
#1 » KT 4HS-1 50 Mean: 2HS4 170 50 1 #2 » K872 2SE4 170 Mean: 3HS3 140 50 1
v T8 3NN-150 -20  3CN3 110 40 1 v T43 2SE3 140 -50  3NE-2 100 40 2
* KT5 Dif: 0 NS:-1 2HS3 140 40 2 + KJ976 Dif: 30 NS:-3 2SE-2 100 40 1
& AJT976 IMP: 0 EW:1 2HS2 110 40 1 & 2 IMP: 1 EW:3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 2NN-150 Mean: 3DN3 110 40 1 ||#4 s K 4SW-2 -200 Mean: 4SW-3 300 7.0 9
v J95 3DN3 -110 -40  2DN3 110 40 1 v JT642 4SW5 650 -10  4SE-3 300 70 1
+ Q976 Dif: 160 NS:4 1NS1 90 40 1 ¢ AJ97 Dif: -850 NS:-12 4SW-2 200 50 1
& AJ93 IMP: 4 EW:0 3NS-1 50 0.0 1 & K92 IMP: -13 EW:-5 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1 ||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 3SW-1-50 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2HE2 110 Mean: 3HE-3 300 70 1
v T8653 3SW-1-50 -40  3SW-1 50 30 5 v J74 1HE180 © 3NW-2 200 50 1
¢ J8 Dif: 0 NS:3 2Sw2 110 -20 3 ¢ AJ3 Dif: 30 NS:-2 3SE-1 100 30 1
& AJ53 IMP: 0 EW:-3 3SW3 140 30 1 » 754 IMP: 1 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3DS-3 300 Mean: 4SE-3 300 110 1 ||#38 s A5 6DS7 -940 Mean: 7NN7 1520 110 2
v JT9754 3NW-1-100 -260 2HW-2 200 100 1 v AQT52 6NN7 -1020 1010 7DS7 1440 100 3
. Dif: 400 NS:8 3NW-1 100 80 2 ¢ 52 Dif: 80 NS:0 6NS7 1020 00 1
& QJT4 IMP: 9 EW:1 2SW-1 100 8.0 1 & AK76 IMP: 2 EW:2 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NS7 -520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NS3 -600 Mean: 4HXE-4 1100 11.0 1
v A543 3NN7 -520 440  3NS7 520 20 3 v QJ4 3NN3 -600 510  4HXE-3 800 7.0 1
.87 Dif: 0 NS:2 3NN7 520 20 7 * AT Dif: 0 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 0 EW:-2 5DS7 440 00 1 » KQ7 IMP: 0 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 O NS: $[3¥K ZEREIRERC) 28 2 NS: BESF IXRA(FI0) 3 VP:| 15.75 : 4.25 | Total VP: 95.60 Rank:
EW: 13{EE FEE7E(BH0) -3 EW: [R# = BE<F(BAC) -2 IMP:| 34 15 10
o I o
#1 s KT 4HS-1 50 Mean: 2HS4 170 50 1 [[#2 » K872 2SE4 170 Mean: 3HS3 140 50 1
v T8 2HS3 -140 20  3CN3 110 40 1 v T43 3NE3 400 -50  3NE-2 100 40 2
* KT5 Dif: 190 NS:4 2HS3 140 40 2 + KJ976 Dif: -230 NS:-8 2SE-2 100 40 1
& AJT976 IMP: 5 EW:1 2HS2 110 40 1 & 2 IMP: -6 EW:3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3NN-3 150 Mean: 3DN3 110 40 1 ||#4 s K 5CXS-3 800 Mean: 4SW-3 300 7.0 9
v J95 3NN-2 100 -40  2DN3 110 40 1 v JT642 4SE-3 -300 -10  4SE-3 300 70 1
+ Q976 Dif: 50 NS:-2 1NS1 90 40 1 ¢ AJ97 Dif: 1100 NS:7 4SW-2 200 50 1
& AJ93 IMP: 2 EW:3 3NS-1 50 0.0 1 & K92 IMP: 15 EW:13 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 3SW-1-50 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2NW2 120 Mean: 3HE-3 300 70 1
v T8653 3SW-1-50 -40  3SW-1 50 30 5 v J74 3NW-2-200 © 3NW-2 200 50 1
¢ J8 Dif: 0 NS:3 2Sw2 110 -20 3 ¢ AJ3 Dif: 320 NS:5 3SE-1 100 30 1
& AJ53 IMP: 0 EW:-3 3SW3 140 30 1 » 754 IMP: 8 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
*eVAN ,QJ3 FOVAN 4,54 3Cs-2 4100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 4SE-3 -300 Mean: 4SE-3 300 110 1 ||#38 s A5 7DS7 1440 Mean: 7NN7 1520 110 2
v JT9754 2SE2 110 -260 2HW-2 200 100 1 v AQT52 7DS7 -1440 1010 7DS7 1440 100 3
. Dif: -410 NS:4  3NW-1 100 80 2 ¢ 52 Dif: 0 NS:10 6NS7 1020 00 1
& QJT4 IMP: -9 EW:-11 2SW-1 100 8.0 1 & AK76 IMP: 0 EW:-10 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 -520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXE-2 -500 Mean: 4HXE-4 1100 11.0 1
v A543 3NS7 -520 440  3NS7 520 2.0 3 v QJ4 4NN4 -630 510  4HXE-3 800 7.0 1
.87 Dif: 0 NS:2 3NN7 520 20 7 * AT Dif: 130 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 0 EW:-2 5DS7 440 00 1 » KQ7 IMP: 4 EW:0 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 1 NS: FENER 2158 GBH0) -2 18 NS: &4 BRELFI(BAC) -27 VP:| 15.75 : 4.25 Total VP: 107.72 Rank:
EW: ShiEs ZEBEEIC) 27 EW: &5 It E(BAO) 2 IMP:| 42 23 6
o I
#1 s KT 3NN-2 -100 Mean: 2HS4 170 50 1 [[#2 » K872 2HS2 110 Mean: 3HS3 140 50 1
v T8 4HS-1-50 -20  3CN3 110 40 1 v T43 2SW-150 -50  3NE-2 100 40 2
* KT5 Dif: -50 NS:-2 2HS3 140 40 2 + KJ976 Dif: 60 NS:4 2SE-2 100 40 1
& AJT976 IMP: -2 EW:1 2HS2 110 40 1 & 2 IMP: 2 EW:-3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3NS-1-50 Mean: 3DN3 110 40 1 ||#4 s K 4SW4 -620 Mean: 4SW-3 300 7.0 9
v J95 3SE3 -140 -40  2DN3 110 40 1 v JT642 4SW-3300 -10  4SE-3 300 70 1
+ Q976 Dif: 90 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: -920 NS:-12 4SW-2 200 50 1
& AJ93 IMP: 3 EW:3 3NS-1 50 0.0 1 & K92 IMP: -14 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 2SW3 -140 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2HW-1100 Mean: 3HE-3 300 70 1
v T8653 2SW3 -140 -40  3SW-1 50 30 5 v J74 2NW-1100 © 3NW-2 200 50 1
¢ J8 Dif: 0 NS:-3 2Sw2 110 -20 3 ¢ AJ3 Dif: 0 NS:3 3SE-1 100 30 1
& AJ53 IMP: 0 EW:3 3SW3 140 30 1 » 754 IMP: 0 EW:-3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW3 -600 Mean: 4SE-3 300 110 1 ||#38 s A5 7NN7 1520 Mean: 7NN7 1520 110 2
v JT9754 2HN-3 -300 -260 2HW-2 200 100 1 v AQT52 7DS-1-50 1010 7DS7 1440 100 3
. Dif: -300 NS:-8 3NW-1 100 80 2 ¢ 52 Dif: 1570 NS:11 6NS7 1020 00 1
& QJT4 IMP: -7 EW:1  2SW-1 100 8.0 1 & AK76 IMP: 17 EW:14 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NN3 600 Mean: 4HXE-4 1100 11.0 1
v A543 3NW-2 200 440 3NS7 520 2.0 3 v QJ4 4CS-1-100 510  4HXE-3 800 7.0 1
.87 Dif: 320 NS:2 3NN7 520 20 7 * AT Dif: 700 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 8 EW:6 5DS7 440 00 1 » KQ7 IMP: 12 EW:12 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 v AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 2 NS: ¥igkz BREIEGHO0) -1 1 7 NS: #hi51H FIE3R(BAC) 18 VP:| 6.00 14.00 | Total VP: 88.97 Rank:
EW: EEH BRBEIC) -18 EW: fisRE sRE#(BO) 1 IMP:| 16 28 14
o I
#1 s KT 2HS2 110 Mean: 2HS4 170 50 1 [[#2 » K872 2SE-2 100 Mean: 3HS3 140 50 1
v T8 2HS3140 -20  3CN3 110 40 1 v T43 3NE-150 -50  3NE-2 100 40 2
* KT5 Dif: -30 NS:4 2HS3 140 40 2 + KJ976 Dif: 50 NS:4 2SE-2 100 40 1
& AJT976 IMP: -1 EW:-4 2HS2 110 40 1 & 2 IMP: 2 EW:-3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 2DN-1 -50 Mean: 3DN3 110 40 1 ||#4 s K 4SW-3 300 Mean: 4SW-3 300 7.0 9
v J95 3DS-1-50 -40  2DN3 110 40 1 v JT642 4SW-3300 -10  4SE-3 300 70 1
+ Q976 Dif: 0 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: 0 NS:7 4SW-2 200 50 1
& AJ93 IMP: 0 EW:0 3NS-1 50 0.0 1 & K92 IMP: 0 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 4SW-2 100 Mean: 4SW-2 100 40 3 ||#6 4 JT86 1HE2 -110 Mean: 3HE-3 300 70 1
v T8653 2SW3 -140 -40  3SW-1 50 30 5 v J74 2CE-1100 © 3NW-2 200 50 1
¢ J8 Dif: 240 NS:4 2swW2 110 -20 3 ¢ AJ3 Dif: -210 NS:-3  3SE-1 100 30 1
& AJ53 IMP: 6 EW:3 3SW3 140 30 1 » 754 IMP: -5 EW:-3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW4 -630 Mean: 4SE-3 300 110 1 ||#38 s A5 6NN7 1020 Mean: 7NN7 1520 110 2
v JT9754 2HW-2 200 -260 2HW-2 200 100 1 v AQT52 6DS7 940 1010 7DS7 1440 100 3
. Dif: -830 NS:-9 3NW-1 100 80 2 ¢ 52 Dif: 80 NS:0 6NS7 1020 00 1
& QJT4 IMP: -13 EW:-10 2SW-1 100 8.0 1 & AK76 IMP: 2 EW:2 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 5CN5 400 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXW-1 200 Mean: 4HXE-4 1100 11.0 1
v A543 3DS6 170 440  3NS7 520 20 3 v QJ4 3NN3 600 510  4HXE-3 800 7.0 1
.87 Dif: 230 NS:-1  3NN7 520 20 7 * AT Dif: -400 NS:-7 4NN4 630 3.0 1
& AKJT7 IMP: 6 EW:7 5DS7 440 00 1 » KQ7 IMP: -9 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 3 NS: ¥ BIC4EEAC) -1 3 NS: E¥3038 PEIREE(BAO) -9 VP:| 14.00 : 6.00 Total VP: 74.34 Rank:
EW: BEERZE THIEEI0) 9 EW: BXE BXE(BC) 1 IMP:| 40 28 17
o I —
#1 s KT 4HS-2100 Mean: 2HS4 170 50 1 [[#2 » K872 3NE3 400 Mean: 3HS3 140 50 1
v T8 4HS-150 -20  3CN3 110 40 1 v T43 2SE3 140 -50  3NE-2 100 40 2
* KT5 Dif: 50 NS:-1 2HS3 140 40 2 + KJ976 Dif: 260 NS:-3 2SE-2 100 40 1
& AJT976 IMP: 2 EW:2 2HS2 110 40 1 & 2 IMP: 6 EW:8 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3NN-2 100 Mean: 3DN3 110 40 1 ||#4 s K 4SW4 620 Mean: 4SW-3 300 7.0 9
v J95 3NN-3150 -40  2DN3 110 40 1 v JT642 4SW-3 -300 -10  4SE-3 300 70 1
+ Q976 Dif: -50 NS:-3 1NS1 90 40 1 ¢ AJ97 Dif: 920 NS:7 4SW-2 200 50 1
& AJ93 IMP: -2 EW:2 3NS-1 50 0.0 1 & K92 IMP: 14 EW:12 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 3SW3 140 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2NS-2 100 Mean: 3HE-3 300 70 1
v T8653 2SW2110 -40  3SW-1 50 30 5 v J74 1HE2110 o0 3NW-2 200 50 1
¢ J8 Dif: 30 NsS:-2 2sw2 110 -20 3 ¢ AJ3 Dif: -10 NS:-3 3SE-1 100 30 1
& AJ53 IMP: 1 EW:3 3SW3 140 30 1 » 754 IMP: 0 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 1NW3 150 Mean: 4SE-3 300 110 1 ||#38 s A5 7NN7 -1520 Mean: 7NN7 1520 110 2
v JT9754 2SW-1-100 -260 2HW-2 200 100 1 v AQT52 6DS7 -940 1010 7DS7 1440 100 3
. Dif: 250 NS:8 3NW-1 100 80 2 ¢ 52 Dif: -580 NS:-2 6NS7 1020 00 1
& QJT4 IMP: 6 EW:-3 2SW-1 100 8.0 1 & AK76 IMP: -11 EW:-11 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 5DS7 -440 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXE-3 -800 Mean: 4HXE-4 1100 11.0 1
v A543 6NN7 -1020 440  3NS7 520 20 3 v QJ4 6CS-3300 510  4HXE-3 800 7.0 1
.87 Dif: 580 NS:11 3NN7 520 20 7 * AT Dif: 1100 NS:-13 4NN4 630 3.0 1
& AKJT7 IMP: 11 EW:0 5DS7 440 00 1 » KQ7 IMP: -15 EW:-7 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 4 NS: Z5 BELEIC) -12 4 NS: 1518 FR(FH0) 38 VP:| 0.24 : 19.76 | Total VP: 95.47 Rank:
EW: Ri&& i EHO0) -38 EW: EZEM 3L7IIE(BAC) 12 IMP:| 6 51 1
o I —
#1 s KT 4SN-3 150 Mean: 2HS4 170 50 1 [[#2 » K872 2SE-1-50 Mean: 3HS3 140 50 1
v T8 4HS-150 -20  3CN3 110 40 1 v T43 3HS3 140 -50  3NE-2 100 40 2
* KT5 Dif: 100 NS:-1 2HS3 140 40 2 + KJ976 Dif: 90 NS:5 2SE-2 100 40 1
& AJT976 IMP: 3 EW:4 2HS2 110 40 1 & 2 IMP: 3 EW:-3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3DN-1 50 Mean: 3DN3 110 40 1 ||#4 s K 4SW-3 -300 Mean: 4SW-3 300 7.0 9
v J95 2NS-150 -40  2DN3 110 40 1 v JT642 2SW5200 -10  4SE-3 300 70 1
+ Q976 Dif: 0 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: -500 NS:-5 4SW-2 200 50 1
& AJ93 IMP: 0 EW:0 3NS-1 50 0.0 1 & K92 IMP: -11 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 4SW-2 -100 Mean: 4SW-2 100 40 3 ||#6 4 JT86 3HE-3 -300 Mean: 3HE-3 300 70 1
v T8653 2SW3 140 -40  3SW-1 50 30 5 v J74 1NE2120 o0 3NW-2 200 50 1
¢ J8 Dif: -240 NS:-3 2SW2 110 -20 3 ¢ AJ3 Dif: -420 NS:-3 3SE-1 100 30 1
& AJ53 IMP: -6 EW:-4 3SW3 140 30 1 » 754 IMP: -9 EW:-7 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW-1-100 Mean: 4SE-3 300 110 1 ||#38 s A5 6NS7 -1020 Mean: 7NN7 1520 110 2
v JT9754 4SE4 620 -260 2HW-2 200 100 1 v AQT52 6DS7 -940 1010 7DS7 1440 100 3
. Dif: -720 NS:-8 3NW-1 100 80 2 ¢ 52 Dif: -80 NS:-2 6NS7 1020 00 1
& QJT4 IMP: -12 EW:-8 2SW-1 100 8.0 1 & AK76 IMP: -2 EW:0 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NS7 -520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXE-4 -1100 Mean: 4HXE-4 1100 11.0 1
v A543 3NN7 -520 440  3NS7 520 20 3 v QJ4 3NS3 -600 510  4HXE-3 800 7.0 1
.87 Dif: 0 NS:2 3NN7 520 20 7 * AT Dif: -500 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 0 EW:-2 5DS7 440 00 1 » KQ7 IMP: -11 EW:-11 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 5 NS: #EEH BRIrEREHC) 2 5 NS: ZpHEEHE E3E(BRO) -2 VP:| 11.14 : 8.86 Total VP: 124.53 Rank:
EW: X3 FEEEGEIO) 2 EW: REISZ SBEUR(BAC) -2 IMP:| 23 : 20 3
o I
#1 s KT 3CN3 -110 Mean: 2HS4 170 50 1 [[#2 » K872 3NE-2 -100 Mean: 3HS3 140 50 1
v T8 4SN-3150 20  3CN3 110 40 1 v T43 3NE-1-50 -50  3NE-2 100 40 2
* KT5 Dif: -260 NS:-4 2HS3 140 40 2 + KJ976 Dif: -50 NS:3 2SE-2 100 40 1
& AJT976 IMP: -6 EW:-4 2HS2 110 40 1 & 2 IMP: -2 EW:-4 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3DN-1 50 Mean: 3DN3 110 40 1 ||#4 s K 4SW-1-100 Mean: 4SW-3 300 7.0 9
v J95 2NN-150 -40  2DN3 110 40 1 v JT642 4SW-3 -300 -10  4SE-3 300 70 1
+ Q976 Dif: 0 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: 200 NS:7 4SW-2 200 50 1
& AJ93 IMP: 0 EW:0 3NS-1 50 0.0 1 & K92 IMP: 5 EW:-3 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 2SW2 110 Mean: 4SW-2 100 40 3 ||#6 4 JT86 3CS-2100 Mean: 3HE-3 300 70 1
v T8653 2SE3 140 -40  3SW-1 50 30 5 v J74 1HE2110 o0 3NW-2 200 50 1
¢ J8 Dif: -30 NS:-3 2sw2 110 -20 3 ¢ AJ3 Dif: -10 NS:-3 3SE-1 100 30 1
& AJ53 IMP: -1 EW:2 3SW3 140 30 1 » 754 IMP: 0 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW3 600 Mean: 4SE-3 300 110 1 ||#38 s A5 7DS7 1440 Mean: 7NN7 1520 110 2
v JT9754 2HN-3 300 -260 2HW-2 200 100 1 v AQT52 6DS7 -940 1010 7DS7 1440 100 3
. Dif: 300 NS:-1 3NW-1 100 80 2 ¢ 52 Dif: -500 NS:-2 6NS7 1020 00 1
& QJT4 IMP: 7 EW:8 2SW-1 100 8.0 1 & AK76 IMP: -11 EW:-10 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 6DS-1 50 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 A Mean: 4HXE-4 1100 11.0 1
v A543 3NN7 -520 440  3NS7 520 20 3 v QJ4 3NN3 -600 510  4HXE-3 800 7.0 1
.87 Dif: 570 NS:2 3NN7 520 20 7 * AT Dif: 0 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: 11 EW:10 5DS7 440 00 1 » KQ7 IMP: 0 EW:0 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AN >\ ¢ —_—
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 6 NS: BE®E &3BE0) -1 1 NS: #5412 HiEE(ERO) -2 VP:[ 12.51 : 7.49 | Total VP: 83.10 Rank:
EW: BEEGH BEY%(BE0) 20 EW: % & E&FE(BAC) 11 IMP:| 28 21 15
o I —
#1 » KT 4HS-1 50 Mean: 2HS4 170 50 1 #2 » K872 2SE-1 -50 Mean: 3HS3 140 50 1
v T8 4HS-2100 -20  3CN3 110 40 1 v T43 3NE-1-50 -50  3NE-2 100 40 2
* KT5 Dif: -50 NS:-2 2HS3 140 40 2 + KJ976 Dif: 0 NS:3 2SE-2 100 40 1
& AJT976 IMP: -2 EW:1 2HS2 110 40 1 & 2 IMP: 0 EW:-3 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 4NS-2100 Mean: 3DN3 110 40 1 ||#4 s K 4SW4 620 Mean: 4SW-3 300 7.0 9
v J95 3NN-150 -40  2DN3 110 40 1 v JT642 4SW-3 -300 -10  4SE-3 300 70 1
+ Q976 Dif: 50 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: 920 NS:7 4SW-2 200 50 1
& AJ93 IMP: 2 EW:2 3NS-1 50 0.0 1 & K92 IMP: 14 EW:12 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 2SW3 140 Mean: 4SW-2 100 40 3 ||#6 4 JT86 1HE1 80 Mean: 3HE-3 300 70 1
v T8653 2SW2110 -40  3SW-1 50 30 5 v J74 2DW290 0 3NW-2 200 50 1
¢ J8 Dif: 30 NsS:-2 2sw2 110 -20 3 ¢ AJ3 Dif: -10 NS:-3 3SE-1 100 30 1
& AJ53 IMP: 1 EW:3 3SW3 140 30 1 » 754 IMP: 0 EW:2 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
*eVAN ,QJ3 FOVAN 4,54 3Cs-2 4100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 2SE3 140 Mean: 4SE-3 300 110 1 ||#38 s A5 5DS7 -440 Mean: 7NN7 1520 110 2
v JT9754 4SE5 650 -260 2HW-2 200 100 1 v AQT52 6DS7 -940 1010 7DS7 1440 100 3
. Dif: -510 NS:-9 3NW-1 100 80 2 ¢ 52 Dif: 500 NS:-2 6NS7 1020 00 1
& QJT4 IMP: -11 EW:-3 2SW-1 100 8.0 1 & AK76 IMP: 11 EW:11 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 -520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NN3 -600 Mean: 4HXE-4 1100 110 1
v A543 2DS7 -190 440  3NS7 520 20 3 v QJ4 3NN3 -600 510  4HXE-3 800 7.0 1
.87 Dif: -330 NS:-6 3NN7 520 20 7 * AT Dif: 0 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: -8 EW:-2 5DS7 440 00 1 » KQ7 IMP: 0 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 ||w AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AY 3z >\ 4 —_
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 7 NS: P FEREAC) 18 1 2 NS: B3k = EARIE(FO) 1 VP:| 14.00 : 6.00 | Total VP: 95.04 Rank:
EW: {528 5=R5&#2(BH0) 1 EW: EE & H&IF(BAC) 1 IMP:| 28 16 12
o I
#1 s KT 2HS2 -110 Mean: 2HS4 170 50 1 [[#2 » K872 2SE-2 -100 Mean: 3HS3 140 50 1
v T8 2HS3 -140 20  3CN3 110 40 1 v T43 3NE-1-50 -50  3NE-2 100 40 2
* KT5 Dif: 30 NS:4 2HS3 140 40 2 + KJ976 Dif: -50 NS:3 2SE-2 100 40 1
& AJT976 IMP: 1 EW:-4 2HS2 110 40 1 & 2 IMP: -2 EW:-4 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 2DN-1 50 Mean: 3DN3 110 40 1 ||#4 s K 4SW-3 -300 Mean: 4SW-3 300 7.0 9
v J95 3DS-150 -40  2DN3 110 40 1 v JT642 4SW-3 -300 -10  4SE-3 300 70 1
+ Q976 Dif: 0 NS:0 1NS1 90 40 1 ¢ AJ97 Dif: 0 NS:7 4SW-2 200 50 1
& AJ93 IMP: 0 EW:0 3NS-1 50 0.0 1 & K92 IMP: 0 EW:-7 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 4SW-2 -100 Mean: 4SW-2 100 40 3 ||#6 4 JT86 1HE2 110 Mean: 3HE-3 300 70 1
v T8653 2SW3 140 -40  3SW-1 50 30 5 v J74 2CE-1-100 0 3NW-2 200 50 1
¢ J8 Dif: -240 NS:-3 2SW2 110 -20 3 ¢ AJ3 Dif: 210 NS:3  3SE-1 100 30 1
& AJ53 IMP: -6 EW:-4 3SW3 140 30 1 » 754 IMP: 5 EW:3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW4 630 Mean: 4SE-3 300 110 1 ||#38 s A5 6NN7 -1020 Mean: 7NN7 1520 110 2
v JT9754 2HW-2 -200 -260 2HW-2 200 100 1 v AQT52 6DS7 -940 1010 7DS7 1440 100 3
. Dif: 830 NS:10 3NW-1 100 80 2 ¢ 52 Dif: -80 NS:-2 6NS7 1020 00 1
& QJT4 IMP: 13 EW:9 2SW-1 100 8.0 1 & AK76 IMP: -2 EW:0 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 5CN5 -400 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 4HXW-1 -200 Mean: 4HXE-4 1100 11.0 1
v A543 3DS6 -170 440  3NS7 520 20 3 v QJ4 3NN3 -600 510  4HXE-3 800 7.0 1
.87 Dif: -230 NS:-7 3NN7 520 20 7 * AT Dif: 400 NS:3 4NN4 630 3.0 1
& AKJT7 IMP: -6 EW:1 5DS7 440 00 1 » KQ7 IMP: 9 EW:7 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 v AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




X AY 3z >\ 4 —_
10 113 FZ 2AKERE LR &2 ==> RI0 10
1 +
#1: 4 JEH142.01) #2: 18 [F9(125.18) #3: 15 FE(124.53)
1 8 NS: £ BEEANERC) -27 1 1 NS: #ElIEF 21515(BRO) -2 VP:| 425 : 15.75| Total VP: 125.18 Rank:
EW: R85 o[ EZE(BFO) 2 EW: ZhiEi8 FEBE(BAC) 27 IMP:| 23 42 2
o I
#1 s KT 3NN-2 100 Mean: 2HS4 170 50 1 [[#2 » K872 2HS2 -110 Mean: 3HS3 140 50 1
v T8 4HS-150 -20  3CN3 110 40 1 v T43 2SW-1-50 -50  3NE-2 100 40 2
* KT5 Dif: 50 NS:-1 2HS3 140 40 2 + KJ976 Dif: -60 NS:3 2SE-2 100 40 1
& AJT976 IMP: 2 EW:2 2HS2 110 40 1 & 2 IMP: -2 EW:-4 2HS2 110 40 1
» QJ83 a A7 4HS-1 50 1.0 6 ||a QJ543 s AT 3NE-1 50 30 3
v QJ v K32 3NN-1 50 1.0 1 ||e J2 I v A75 2SW-1 50 30 1
¢ J9732 + 864 4HS-2 100 -20 2 ||e QT8 ¢ 532 2SE-1 50 30 2
& 84 » KQ532 3NN-2 100 -20 1 » Q87 & AKJ63 2SE4 170 3.0 2
% ¢V BN 496542 4SN-3 150 -40 2 FOVABN 4,96 2SE3 140 3.0 2
N ~~321 ¢ A97654 4HS-3 150 -40 1[N ~ 2 2~ ~ » KQ986 3NE3 400 -80 3
S ~~321 +AQ S ~22~~ oA
E~1~~~& E 2~~12 &T954
W ~1~~~ W 2~~12
#3 s AJ 3NS-150 Mean: 3DN3 110 40 1 ||#4 s K 4SW4 620 Mean: 4SW-3 300 7.0 9
v J95 3SE3140 -40  2DN3 110 40 1 v JT642 4SW-3 -300 -10  4SE-3 300 70 1
+ Q976 Dif: -90 NS:-3 1NS1 90 40 1 ¢ AJ97 Dif: 920 NS:7 4SW-2 200 50 1
& AJ93 IMP: -3 EW:0 3NS-1 50 0.0 1 & K92 IMP: 14 EW:12 4SW-1 100 30 1
s Q732 ~ KT65 3NN-1 50 0.0 1 ||a AQJO7 a T543 2SW5 200 -5.0 1
v Q874 v AT6 3DS-1 50 0.0 1 ||e AQ95 + v K83 4SW5 650 120 1
¢4 + 8532 3DN-1 50 00 2 ||eT + KQ85 4swa 620 -120 3
& K854 » QT 2NS-1 50 00 1||s Q76 a 43 5CXS-3 800 -13.0 1
oo VABN 4,94 2NN-1 -50 00 2 oo VAN 4,862
N 12~~1 vK32 2DN-1 50 00 1[N 11~~~ o7
S 12~~1 ¢+ AKJT 4NS-2 100 20 1||S 11~~~ ¢ 6432
E ~~13~ 8762 3NN-2 100 -20 2 ||E ~~241 &AJT85
W ~~13~ 3SE3 140 30 1||W ~~243
3NN-3 4150 3.0 2
#5 » 87 2SW3 140 Mean: 4SW-2 100 40 3 ||#6 4 JT86 2HW-1 -100 Mean: 3HE-3 300 70 1
v T8653 2SW3 140 -40  3SW-1 50 30 5 v J74 2NW-1-100 © 3NW-2 200 50 1
¢ J8 Dif: 0 NS:-3 2Sw2 110 -20 3 ¢ AJ3 Dif: 0 NS:3 3SE-1 100 30 1
& AJ53 IMP: 0 EW:3 3SW3 140 30 1 » 754 IMP: 0 EW:-3 2NW-1 100 3.0 1
# AK654 a T92 2sW3 140 30 5 ||a Q32 » AK97 2HW-1 100 30 1
vJ v K74 2SE3 140 30 1 ||e5 — v KQT83 2CE-1 100 3.0 1
¢ KT32 + A654 * KT942 + Q8 1HE-1 100 30 1
& 842 & K97 » 9632 » QT 1HE1 -80 20 2
F*¢VABN ,QJ3 o ¢VABN 4,54 3CS-2 100 -3.0 1
N 1~2~~ ¢AQ92 N ~~~~~ v A962 2NW2 120 -3.0 1
S 1~2~~ Q97 S ~~~~~ ¢ 765 2NS-2 4100 -3.0 1
E ~4~32 &QT6 E ~1~21 &AKJS8 2HE2 110 3.0 1
W ~4~31 W ~1~21 2DW2 90 3.0 1
1NE2 120 -3.0 1
1HE2 110 3.0 3
#7 # 763 3NW3 600 Mean: 4SE-3 300 110 1 ||#38 s A5 7NN7 -1520 Mean: 7NN7 1520 110 2
v JT9754 2HN-3 300 -260 2HW-2 200 100 1 v AQT52 7DS-150 1010 7DS7 1440 100 3
. Dif: 300 NS:-1 3NW-1 100 80 2 ¢ 52 Dif: -1570 NS:-14 6NS7 1020 00 1
& QJT4 IMP: 7 EW:8 2SW-1 100 8.0 1 & AK76 IMP: -17 EW:-11 6NN7 1020 00 2
s Q94 » KJ52 2SE2 110 40 1 ||as T42 a J93 6DS7 940 20 8
v KQ86 + v A32 2SE3 140 3.0 1 ||v K76 v 984 5DS7 440 110 1
¢ KT53 ¢ 984 1NW3 150 3.0 1 ||e T874 *6 7DS-1 50  -14.0 1
& A7 S » K63 3DS-3 300 1.0 1 ||a JT5 » Q98432
do ¢ VAN 4AT8 2HN-3 300 1.0 2 % ¢ VAN 4, KQB76
N2~~~~¢ 4SE4 620 80 1|IN ~7777 »J3
S 2~~~ ~ ¢ AQJ762 3NW3 600 -80 3 ||S ~7777 ¢ AKQJI3
E ~~113 #9852 4SE5 650 90 1||E ~~~~~ &
W ~1113 3NW4 630 90 1||W ~~~~~
3NE4 630 -9.0 1
#9 aJ5 3NN7 -520 Mean: 6NN7 1020 11.0 1 ||# 10 & AK753 3NN3 -600 Mean: 4HXE-4 1100 110 1
v A543 3NW-2 -200 440  3NS7 520 2.0 3 v QJ4 4CS-1100 510  4HXE-3 800 7.0 1
.87 Dif: -320 NS:-6 3NN7 520 20 7 * AT Dif: -700 NS:-12 4NN4 630 3.0 1
& AKJT7 IMP: -8 EW:-2 5DS7 440 00 1 » KQ7 IMP: -12 EW:-3 3NS3 600 3.0 3
& KT8743 a AQ 5DS5 400 1.0 1 » QJT864 3NN3 600 3.0 6
v 986 v QJT7 5CN5 400 1.0 1 v AT7 _I_ v K9865 A 00 1
¢ T4 ¢ 962 3NW-2 200 -6.0 1 ||e J9873 ¢ 42 4HXE-2 500 0.0 2
& 98 » 6542 2DS7 190 60 1 ||& J9852 ~ 4HXW-1 200 7.0 1
o ¢ VAN 4962 3DS6 170 7.0 1 FOVAN 4,92 4Cs-1 100 120 1
N 54~~1 vK2 6DS-1 50 100 1[|N 3 ~~13 »32 6CS-3 =300 -13.0 1
S 54 ~~1 ¢ AKQJ53 S 3~~13 ¢ KQ65
E ~~~~~ & Q3 E ~~~~~ & AT643
W ~~~~~ W ~~~~~




